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PROBLEM:
The input x(t) to the A-to-D converter is specified by its spectrum in the figure below:
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The z-transform for the LTI system is
H(z) = (1 — ej”/4zfl) (1 — e_j”/4z*1>

If F5 = 200 samples/second, determine an expression for y(t), the output of the D-to-A converter.
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The input z(t) to the A-to-D converter is specified by its spectrum in the figure below:
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The z-transform for the LTI system is
H(z) = (1 — ejﬂ"fdz_l) (1 - e_jﬂ'/'iz_‘)

If F; = 200 samples/second, determine an expression for y(t), the output of the D-to-A
converter.
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TT_? = 1/F, TTS = 1/F,

(= G cos( m(150)t + 24 ) ¥ 4 cos(2r (225)t + 74 )
FZ@P[CLUL ¥ wibkh n/F's = V\/zoo to do A/p:

Xfl= Geos(am(152 yn + 2 )+ 4 o2 (25 +14,)
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Fovps #o 53amwe as 2y n
an(-§ym 8

XW1= 6 cos (am(-4)n+2T) 4 405 (In(k)n +T4)
= o5 (anliIn=295) ¥ 4cos(3n (ymK)
Evall H(e/”) ad BSavwy, A
H() = (1- ew/“é‘)“/")(\ —e_'.i“/ﬁe_—.i“"’) =y )™

H(Va) = (1 - @A) (|- si™) = o
=ERO

=>yfn] = 643 cos (2 (F)n - 25+
vy = 682 cos (ar(so)t - Y )
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